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Paper-i (Mental Ability Test)
Our.l (ATETEw TgEr SHET)

Time: One hour
AT U OHET

Max Marks: 100
FUFEH ¥ 100

Note: 11 8]l there sre S50 questions. Each guestion carries sgual weightage and there 15 mo

negative marking.

A 37 50 93 €1 TR W S 4R FAW § SR S e s A 8

Choose the correct option:
w1 Tawew 94

1, | The LOM of the three numbers 45, 30 and 35 is:

a. | 180 b, 420
c. | 63D . a4()
e gl 4530 Y 35 F wEH AT
a | &0 Ip. 142D
c L d. g40)

=

In 2 row of bavs, [£A who is [0t Som the Teft'and B wha is il fram the right
interghange their positions, A becomes 1 5th from the left, How ntany hoys s there in

the row?
. 23 b 24
=7 d 25

§1 afFe 3 fimew w56 &7

&,
FF UL E, A U A9E & IR a9 6ol AT # |58 T W o EEr

108 w7 § A B Aw & oF

|23 b. 24

g |27 d. 28
"3 | In acertian rode langunge,

134" means 'good and tasty;

478 means ‘see good pietures’ and

729" mears ‘pictures aie funt’,

Which of the fbllowing digits stands for ‘see™

B |9 b. 2

d | id 8

Hﬁﬁﬂ%ﬁ FHrE s A,

720 &1 7§ mel g )

34" w1 3 & e 3T weE;
478 & A/ § el aedy 2t SR




| TR @ A 3w AT & e £7

m. & h. 2

L. 1 4, a

Find the missing numbet in the following series?
3.5,5,19 7,492

2. 71 b 61

e |99 d. |69

FesTata sas 7 gea Faan @ fime
3,5,5,19.7.41,9,7

2. |H b |61

g |79 d. 4L

Find the wrong number [n the given senes.
8. 27, 125, J3, 1381

5 | B b, 27

g. 1343 d. (381

&Y aT§ A F www Hed A S
§,27, 125,343, 1381

il | ﬂ b ¥

c. | 343 4 1381

What should come in place of question mark (%) in the following ripmber seres?
132 15 7 210 241 273

pi 196! [+ 3 182

154 d. 204

ﬁwﬁfﬂﬁmmﬂ‘mﬁrﬁ (& = w0 @ S e
132 156.7 210 240 272

il 196 b 182

c. |99 1.d. 204

Front the piven alternatives. select the word which CANNOT ba formed nsing e lemers
of the given word:

Reprehensible
4 | Repalr Tk THen
Rise g Ri ifit

ﬁ?mﬁm?ﬁﬂﬁﬁﬁuﬂmwwzﬁmﬂﬂmm
i e 3t A B

Teprehensible
i Raopair b. Hen
e Hige d Ripe

A series 18 given with one terim missing. Select the correct plternative from the given
ones Urat will complite the senes:
FH, KM, PR, LIW, ?

n. 2B b | YA




le. | NZ ld. | ¥YC

ww HEar & g T T A e ) B e 7§ ag ud Ree

afete, S e @ 9 HE:
FH. KM, PR, UW, ?
o | ZB b, [ya
e. | XZ & ['¥E
9 In a certain code language. '%* represents ™+, = represents ®', - represenls = ang "+
represants =, Find out the answer 1o the following question.
WHI6x6+10-4=17
la 13 B 12
e |30 d |19
UF T FIE ENT A, o ZE & i L S €
A =, T e & e S 1 397 @ SiE)
W=16x6=10-4=7
m |13 b 12
e |30 d. 19
1. | IFF =6, THE =33 then WOMAN = 7
a |64 b, 63
e | b6 d. 61
i F=6, THE=338"r WOMAN =7
a4 h. &%
i €. |66 d &7
1. Mitin ranks 23rd from the top in & class of 42 stdenis, What will be his rank from the
lust?
u, 25th b Jith
3 27th d Z3rd
T 40, B #Y UE wET o O 5§ wwe ov f FEe W 3EE TR
=1 g
-8 |osan Lb |
¢ |2 d. |25
1Z. | M Neha said that Lakshmi's husban is the only son of my grandfather, How is/Ms.
Nehaelajed 1o Lakshmi?
u. | Mother b. Daughter
c. | Cousin d, Niece

gﬁﬁ#mﬁ:ﬁﬁwﬁﬁm#mﬂrﬂamqﬁﬁmmnﬁﬂ
71 foar &7

EE b a




€ |y W g | s

13, | Tam looking at the photo of my mathars mother [n-law. How is niy father refated to
ilic person in the ghom?
a.  Fwher h. Davshier
g | Son d. Hushand
#Mﬁﬁmﬂﬂz‘rﬁwﬁl AT T a oy & e @ =R @
AT Fa §Y
% | frar L

| c. aﬂ d' qﬁ

T2, | Six hoys are siting in & row facing south. Gauray i seeond to he right of Akash who
& at otte of the ende. Prem is at fourth position to the lefl of Ramdn. Jatin and Nitin sis
together, How many boys are sitting wo the Jefl of Nitin?
L |3 b, 2
c. |4 4. | Can not be determined
o Wl el R AT o 4R A 33§ A e & o AR
&I EE Y E S e OR W OB W aE & @ a0 AR s WO e
T Tmteoe T W9 dE9 B Ffad & @ HC Feoe d5 88 8
A |3 b. 2
¢, |4 d. | fehfee o T s o

1% | Find the number pf trisegles in the given fzure.

i 7 h |8
T L [ 3 L
& E gty Tt v w9 A

3 7 b 9
. 119 i 11




16, | A contuiner has 75% milk add 25% witer. 112 litres of water are added 1o it then there
will e equal amount of milk and wakze in the container. Whit is the amount af milk
present in the contuine?

8. | 3 litres b 4 litres

€ |5 lnes d 6 litres

v adT A 75t aY A 5%l &) aR 38R 2 e o A R e At

aia & gy SR w f e soe g S adE A gy A s e B

a3 det b 4 o
e | sdET 4 | et
17 | Find the numbet of syunies ln the bilow figite.
I
|_1..-I-
L
A |17 'h, |18
T4 4. 13

A & wEl F o B FEE T S

a b 12

e

el ||
[EE] l
) [
¢ [ d.

18. | Count the number of squares in the below igure

&

n |4 h. &
c. |'é d. 7
AT & I e F @ wsar el

B, 4 b [S
e. |6 d. |7

19.




Count the number of tridngles in below figute.

T E b, |3
c i ) d. None af these
A & 715 STEta A e & JE e |
a [3 b |3 |
¢ |6 |_ d. = R a:n-g CE

20. | Which of the fbllowin is leagt like the otheis?
x Ship b Car
& Bicvele i | Aeroplane
TsTAte & & &9 @ 32 ¥ 99 &F Hea el 57
G b |Fm
¢ | e d | g e

2. | IF*HOUSE’ js caded ps "GNTRD', hiw will 'STREET" be coded?
o | QTRDDS b, RSQDDF
¢ | RSQDDS d. | TFSQDD
afe "HOUSE' ST ‘GNTRD' F ¥ ¥ Fzaey fsar sen & & 'STREET 1 F0
i. | QTRDDS b RSUDDF
¢. | RSQDDS 4 TFSQDD

2% [ IT"QORANGE' is coded a5 PSBOHF’, huw is ‘LEMON' coded?
o, | MFNPM b, [ MFMOL
g, MFNPO - . MEMNK
ITE 'ORANGE' T ‘PSBOHFH #T # forar siran 8, @1 LEMON' & R
e e e B E e e
1. MFNPM b MIMOL

_ ¢ MFNPO ld | MFMNK
(3% | BAR:RAB:CAR Y

5. ARC |k |RAC




c. | CAR [d. I RCA

BAR -RAR::CAR 2

h, | ARC 1] RAC
G CAR d. RCA
24, | Given below are 2 statements Tollowed by 2 conglusions. Choose the

conclugian conclusions that follow(s) the given statements by selecting the right
aption,
Statements: L AT Ais B

i1, Some C is A
Conclusions: || Sume Clis B

ILLAICEB

a | Nelther conclusion | nor canclusion b Beth conclusicns 1 and 1T follew

11 folows.

Only conclusion 1 follows. i | Only conchatlon 1 fllws.
Mvmmmmazﬁmmﬂﬁttwﬁﬁmme
WA & AG A AW /e @ g
e LW A, 88

050 CAE
nﬂaﬁﬁ_‘ l.glr_i.f C, B—f‘l
nHl CBE
o |F t Besd g B Rt | b (B9 Beed 1 a1 seETr
1| 3T F5 3 T F) |
¢ |y e 0 s e )| ¢ | S e | e & §
35 | Given belojy 4 question follbived by 2 satemerts. Chodse the stalemenusiniemants

pequired to answer the question by selecting a vight oplioa.
Question: How many days ave there in the month X7
Statements: 1 Month X kas more than 28 days

{1, Number of davs in the month X is a printe number

a | The question can't be answered even | b Statement | along i5 sufficiem but
by using both the statements statement [ alone is insu(Ticient

¢ Statemnent 11 alone iy sufficient but | d Both stitements | and 1 wogether are
statetnent T alone is insufficient sulTicien

A wn g e T E RE A 2w Re o Bl REew o
TeH F 308 & & S0 FEwEs suamtd 14|
FUF L X TN F 8 ® afes BZm

I X wEwr & BT & @ e sy e 8l




A g e o oauaT w0E S © FOW | Feer gang & AR

T I HTE
Gl _ |
b |Fum e g § Afee ¢ |Fue Al N & ous am
U | WS JE B | i E
26, | If South-East becomes Novth, Norh-East bocomes West and o off. What will West
begome?
a | Norib-East b | Nanh-Weet
Suuth-Fast d I South- West
aﬁa‘ﬁmrﬂémﬁ- SEl & Ined gffed =5 S B 5 e A
¥ i =ar a9 Sy
uh
cd
| LA L £
& | gwngd ¢ g
27 Tmtqmn.-taminmn wealliirgg fromt the same point. A walks 75m Noeth, then tlens o her 6
and walks 90 . B walks 110 m Souh, thien turns West and walls 96 ), then tirns (6 her left
angl walkes 130 m_ Where is Bowith cespett 1o A now?
o 'gs m Seuth | b, 333 m South
335 m North d. 83 ni North
ﬁnﬁﬂﬁhaﬂraﬁﬂmﬂmgmm A T3 HieT 30 &1 EW
waefl & v s o e & s oo e owwEr BB oo Fer gEw
3 el By ufdes & o e & sl oo ofe T B TeT HOH AW
we B S (50 AT TEH 31 A A ¥ Wy g
#o | 835 ez afenr b | 355 Hrey ziEoT
€ |3359Rm IR A L ss e AT
In questions 28-32, keeping in mind the relation between nimbers if the first pair, find
the possible number for the 2nd pair fram the options.
si%e T 28-31 W, UEe Ee fr wegiE & dg dew W LmE # e g
faeel 35 ¥ gL s & TRU wesiaE we A sie
28. [43:12::84:7
4o df h. 3z
g 12 i Nane of thegs
L b. 32 _
e iz do | mmd & #g o
24, 22 45 g
A |34 b, 38




c 42 [d. | None of these

i 34 s, 38 _

& [ d |zt & o g
30, |RAM:32::SHAM:7

[ 67 b, B

. (15 i 54
31. | RAMA : UDPD : i MONA :7

Il PROD T QPR

c | ZYST d. STUV
32 N1 GC:ITX::TB:7

d LIy b VX

c [Jirdl d Yl

[

In questions 33-35, three words are given in the following questions, Four aptions ine
aiven belgw thise questions. ane of which is represenfalive ¢f the three-words. Find thae
aptinn.

waE FeAT 3335 7 A ez fow e Bl 55 weh & A un Twey TR e
£ O @ o e @ Wedl W Wiawieed wl gl U8 EReT g

33, | Goat Sheep, Monkey

& Herbivorpus b. Skin
c. | Tree d BDamestic
& | g b | =
i de g
34, | Quiub Minar, Taj Mahal, Red Foi
a. | Marhle b, Shahjahen
c.  Ancient residential Bubldings ld | Heritage
S s b | wrgEt
e | wrEhe anEE ARG 4| Rowa
35 | Shirt, Pany, Cont
il B’llfh. | b _]tl!ﬂ.!l
¢ | Cloth 4 Liswier Clothes.




a. 'a;mr (i Eﬁ;ﬂ

o == & s a

In yuestions 36-38, three wonds are tiven in the following quesiione which have commion
fealure. Four options are given below the three words, one of which has thar same
commun feature. Find the woid,

wer waar 36-38F oW =g Rwoaw § TeE wae R 8 @9 w= &
e un ﬁmﬁmﬁxm ¥ RS @ v & wam R o 7w ffaw

36 | Chess. Corrom Boudrd. Table Tennis
o (jame b. Cricket
c Billiuds d. | Pols
WETS, San @8, AW R
L | | b e
e |z d. | <t
37.  Combodim, Myanmar. Thailand
. jL Australia b Sri Tanka
- Mongolia d, | Vietham
m’lﬁm TEEI, WEAE
v | s b | sier
e | Enferar | b | Rrgaas
| 3. Fruit Flower. Stem
i Seent B Leal
c Veeerption 4, Foredt
. . A
¢ A S i

39

[Fsecind alphabet In esch of the following words is changed to next alphebet in the
English alphabeticil dider, how many words having two vowels will be formed?

ANDY; FOR: THE : 816 ; SUM

a. (e b. Twio

g Three d. WNonk

afE T=Taias Teds e = guT FET & s aovEreT § A 3o e

A wzw e e A &7 = A e frem  wman

15




AND: FOR: THE: BIG: SUM

a. & B [ ﬂ-
Lo #‘H d ]m a#
40 Find put the two signs 1o be imterchunged for making follewing equation correct
S+3x8-127455 )
o |[=and- b. -apd/

“-and x |'d =.gnd |
ﬁmﬁfﬁﬂaﬂmﬂaﬁﬁﬁﬁ TRT YIEYT Wael o @ ar e
H=
S+3x8-12/4=3
1 |- - b |t
S |d +3Ri

41 | Essentinl part for the given ward from the Imlnwmg ppthuns.
Respirapon”
o | Oxygen b, | Carbon monoxide

Mouth d. Circulation
mwmtmﬁmﬁﬁaﬁm##mﬁmm{{m
oy

o b. | &da AwETEEE
EEG ld. | i
47 | Choosz the peir wiich shows the same celation of the glven pair from the following
aptians.
Bristle 1 Rrush
8, | Arm:Ley b. Key : Plano

Recling * Chair d  Stige: Curisin

Wﬁmﬁ#aﬁmiﬁmaﬁ#ﬁrm Ha= Fau e
Bl

[ grdy b | = fEmr

¢ | s HiF I - 1

43

Arratige the fullowing in g logical order:
| Shoulder 2. Wrist 3. Elbow 4. Palm 3. Finger

.WIWE#WA?WSM

11



- 8.3 (3 31,425
g, 134,511 i 5.4.2.3. 1
44, | Thread |s v Siring a5 Cask i5 o
. | Barrel hr Disz
[ Wallet Beix
T e & i tﬂ#ﬁm:ﬂﬁiﬁﬂ E:
R E b | B
c |wWRE COE
35 | Rotate : Energy & Stop 2
o. | Spin b Brink
c. | Inertin J.d. Targue
AT © ol o ¥ 7
& lsgen b _ e
¢  FEE & |EE
46, | In a group of persons travelling in o bus. 6 persons con spealk Tamil, 15 can speak Hindi
and 6 can speak Gujarati. o thar group, none can spaek any other language. IT 2 persons
in the wroup can speak two Jenpuages and one parson can:speek all the three languages,
thien hove miziny persons mre there in the group?
A 1331 b 22
e 23 d 24
W F wE T Ay A & 0F JAp A, 6 2 aAe o wd £ S
T ¥m wwa § 3T aaenR 4 we §| 39 W E e s wm
T T e & 4 mEE A 2eaEE g e AT W £ 3T TR =
At s W@ FEar €, A wEp @ Bee o e §
In 21 b. 2
g 123 d. 24
47, | Seleet the aplion is which the two words are related in the same way a5 the swords in the
given patr are relayed,
Rupid : Slow
a._ Ipcreast : Shrink b Stop - Censge
g, | Swre: Feer d. Wit ; Remnin

a5 Tamew 4A A 2 s=e 36 e & maa B oa U av o & o=
srave 8
aw - e




L

a | g : R R Gl

& | g e o o G Gl

48,

In the following question, four sroups of three pumbers are given, [n exch wroup the
secarid and third manvher are related to thy [irst number by a Logie/Rule/Relation, Thiee
are similar on hasis of same Logi/RulesRelatipn. Seledt the odd one out frum the given
plierranves.

a8 17 33) TS

c. {9 19,371 d. | (15.31.8D0

Bty TeT 3 W FEER & 9N §Hg RU A #| 935 §Hp A F0
st el Fe B ST 2@ e e & RS B A
e ATEaREEY ¥ TR ST e §) TR o e A

a. (8. 17 23) b,  (3.T.12)

e, | (9, 19.37) d. |8, 31,61}

&9

In ech of the Tollowing question helow are given some statements followed by some
conilusiohs. Taking tie given statements to be toe even if they seem 1o be at variance
from commonty krown facts, read all the conclusions und then: decide which of the
given conelusion logieally fulltws the given sutements.

Stutements:

I. Some pens are pencils,

M. Al peneils are emsers.

Conclusions:
1. Some pens are erasers.
1. Wo pens are erasers,

M1,

Some trasers mepeneils

a. Chily conclusion (11) follows b Only conclusion (1) and (11} follew
¢ | Onlv conchusion (1) and (11 fllow | 4 | No conclusion faliows
e hwnﬂﬁmﬂ@ﬁmmmﬁ?ﬂgﬁﬁﬂ*mwm (A

o FAA W Few A g Ao § & S A a & fies it el
21 s et &1 o 30 e A FF B R aw Tl & § @ o e
Rl o s R el R L S R

Fu L ES 49 1R §

[ we 9w 3391 B
FE L FE O 3 £l
1% 09 SN A8 §
1. S TR E |
Lo | dEE SR (1) AR & D e s (1) 3T (1) e
gl FAF




T6 e et () 3T () Fogmest |0 | v (vl 3repeor 18] e |
wRd |

The question glven Beliw consints of i stuterient, fallowed by two arguments
numberad | and 1. You have 1o decide whitl of the atguments is @ 'siong argunient
and which s a‘weak' srgiment,

Statement: Shoukd women be allowed o combul arms i they mieet all standards?
Arguments:

|, Yes. women have alréady proven catmpetence i cambat - they have already been
exposed te pombat in g apd Afghanisian, so it makes no sense i efficlally continue
exchuding hem

1. N, the overage Temale is physically weaker than the average male.

4. | Only argurient | is strong b. Croly argument 1 is Strong

e Lither | or Il i strang | d. [ Neither 1 hor 11 is strong

18 fw @ wee & UR wea £ BES 9w 1 3R L EATea & % GE e §
WU T ST & T s @ o weay e b3 @ W owEar a6 §
e T AR 1 gt g & anfae 9 ) Fgaa & S Ry
gfg & wefy HEw o s3Er

i |8 e 3 vrd & quv & Foh weer wied X 2§ - 9 uge @
FuF 3T TR & 2Ry @ e O E s 3 siteieE
AT ST WEY W wig Foed HJiT T
1tmmmm$wﬂaﬁmﬁmﬂ?mﬂmﬁﬂrh

0. | e o | FE B b. | Fuw ad 1 ESEE

¢ | & 137 AT B d g & 13 = & hasgg 8

i
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I [ |
@ Instructions to the Candidates

Y OWET TR S0 BYE (25 WE S GET OO 25 W S i) ¥ g gEgieer € w0 4 € o

T i amE 30 &/ The Questian papar is In the form of Question Bookisl with 50 questions

EE questions General Awarenoss & 25 questions English language) and the duration of the test is 30
inutes,

it w ferel wfe aafs awn @ 0§99, A 9 Rl o @ anifoe ey @ =@ amy/ The quastians wil

be objective type with four options dut of which only one will be unambiguously correct.

weow We % fow o8 &w o AR wdw e o @ [ v afe e wigr/ Each question carries

02 marks and one mark will be deducted for each wrong answer,

el = gen 2 fan se SiEer o (Rew ws W wies 41 /A separate OMR answer

shizat with carbon copy will be provided to mark the answear optians.

Y, S A Y agiet & agene A aEn o @ o e i @ sy e e @

wifter = W) it T WA = W was oo £/ You have to select the right answer by marking

the corespending circle on the OMR answer sheet by blus/black ball point pen as per inktructions

given in the answer shest

os e @& fe s @ e wow Wl T/ Mulliple answers for one quastion Will be regarded as 3

WIang Snswer.

et gReon 8 yr am ol 9 SR ol @/ Enter your Name and Roll Nymber comectly in the

question booklet.
st e T efifem dwe ) wEn v e 9 gl @ e ey All sntries In the OMR sheet should
be with bluefblack ball pont pen enly.

srr R = @ TefeE S =i ® §F atendance shest T s #9F TR/ You should sign atientance
sheét only In the prasence of the invigilater in the examination hall

Rty T o % e e S, e 9 e o sl Ao, wow oo, Aew aif @ an
sy =81 4/ Computers, calculstors, mobils phonss and ofher electronic gadgets, 24 books, nofes
atc. will ot be sliowed inside the wiitien test hall

e g T g Aty wwe SR e 9 e € S s W o 7w w/On complstion of e

tesl. atiginal OMR answer sheat should handover to the Invigilater and retain e carbon copy with
you.

w2 e ot Pefuo ot st 1/ Return the question booklet 1o invigriator,
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Paper 11 (General Awareness & English Language)
T 11 (TR ST 3T Harsil Se)

Time :30 minuotes Max Marks: 150

30 = Ffwas 3% 150
(Genoral Awareness;7s + English Language:75)

(ETHT SATEaan75 + 3T HT75)

Note: Ity all there are 235 questions in each part j.e. General Awareness and English. Ench
duestion enrrles equal weightage and one mark will be deducted for every wrong answer.

e W ST 30T HAST & UElE S F B 2505 WE F | WedE 9 &
3w A 3 sl e 36T & AT s Se e 3|

General Awareness
Chopse the correet option:
[ Taeew ifr:
E The number of Rapyer Sabha-members fiom Himachal Pradesh v
1. Two b, | Three
c. Four d.  None of these
R w2z & Swen e ) de B 87
a |® b, @A
c. | am EEEEEL
2 When did Himachil Pradesh become fill-fledged staie?
. 25 January, 1971 b |26 January, 1971
= 25 January, 1972 d. | 26 lamuary, 1972
Firmeeet iy & yof arww e an nr?
4. 25 w=ed) 157 b, | 26wt 1971
- T | 25w, 1672 1. | 26==1, 1972
i, Actording to land utllization classification, the nrea under forests as @ per.cent of lotal
. geocraphical aren in HP is
a. 20% b | 32%
c. 37% d. | 43%
sy Zelis arfhon s, fmee) ion @ &1 & afri g WS i =1 P o @v §7
a. 20% b. | 3%
| £. 37% d. | $3%%
4. | Monsoon Is eaused by
i Seasonal reversal of winds h. | Revelution of varth
B Movement b7 e lbuds il f Rise in tempoidure
wwA e R &




W | TR W ] e b | g e
I e e A AT R EGE T3
3. Al Tunngl in Himpchil Pradesh pesses ﬂndrmmh wiiich pass?
o Konam pass . | Julon pass
Banihal pass d.  Rphtang pass
_ ﬁaﬁﬁrihﬂ s g e w2 A ET
. dwiiy IE: L
e | Hﬁﬁm 4 |Temeat
G, | Who has been awarded Padam Shri for the yeor 2024 from Himachal Pradesh?
0. Sh. Soin Dutt Basty b. | Sh Nek Rem Sharma
g, | Sh. Mitin Vyas d. Dr. Kshamanietie
firorws wom = 2024 3 fg e ) & S syt fem v §
i LA R W PR T
e | W e d. . W
7 Linder whose Chaimmunship, National Education Policy 2020 has been drafied?
a v & K asturirangan b, | DrA Kothari
. D K Madhvan d. | Br & Gopalan
vy o ot 2020 w wsder Sl srsswnn § Sy T v #7
n T s i b E IR o]
o | EEanm d | A smrEE
8 | Name the gland which is pressnt aboye our kidneys?
o | Adrenigl b | Piluiary
8 Gonads 4. | Salivary
e e e B e i _
L b, eaget
g TR d. | SmaE
B Solareclipse wkes place when:
o Madn pasies between sun and canth B | Eunth covers sun
< Sun is in between mbon und éarth d. None of these:
4 ) = e 8
o | T o i e E e b, [IEEewet
.| TS S0 T e e d | YoE S
10, | The agency that fixes the minimun suppon prices o vakols crops in [ndia is
| & | FCI b, INCDC _
c. CACP i.- | APEDA
wrew W (il W] W S[EE WO S e T e e
R R R
e | s 4 ww
11, | Which of the following i< the planped new enpiinl o’ Andlia Pradesh?
i . Hyderabad b.  Amaravai
£ | Bamgakore i Vishakhspatnam
Tt & ® s 3y g o maneE Y
i, E = | FEEAA
SEE 4 T

Which Is the longeat mountsin rangs in the world?

2




naminated by the President of India to

n  The Himalayas b. | The Alps
é. The Avdes d. | Roekies
T 5y T o R g =
a feway b. ™
o | 4 |
13, Kaziranga National Park lies on banks of’ which river?
a Gianges b, | Goduvar
c Brahmaputra do | Yamiung
st vty @i Ter 2dt w ne e T &7
g | e
T d |9
19, | The Meadquarters of Warld Bark is located af
| Geneva, Switzerland b, | Wakhington D.C.. United States
t. | Berlin, Germany d. | Brussels. Belgmm
| g = g =] S Y
A T, Rasde b, | =i df, sywE siv
3 afid=, =i d. | yEs. e
15, | Name the part of the body on which corantivirus affects the most.
IL Hearr | b.  Liver
Kidney |d Lungs
'!TFRFW’F_!WWWW T AT WTHUR SR S S st
A & b =n
[ SR d, | ==
Ih. | One square kilometne hus :
B 1 000 hectures b | (4} hectares
i, 11 heelares d. | Mone of these
wie w1} et & s feas wiE B
A | ID00 = b [ 100 &
e U= d. | T
17 | Which of the following compound is mainly used in hand sanitizer”
1 Aldehyde b. | Acetic acid
e o Aloahal i Kelone
Erfiniirr £ & o v P o v @ By Byt 8wl st = 67
i YrET R b, | WEEEwE
g, S d. .' G
IR, Wesrnj Chopra is associted with
4 Hockev b. | Cricket
c. lavelin thinw d. | Sholput
o vl el A 4 17
a o b, |t
c. AT T i STl !-'-H
19, | Recenily Sudha Murthy, i famois philarithroplst, was in news because she was

a. Lok Sabha |

b.

| Rajva Suhhi




a Copper, zine b. | Copper, nickle
© | Copper. tin | d. | Copper. aluminium
e e g W T AT
i Al = b, | g, Bam
[ = 1% B |, reE
21, | The concept of "Hiosphere Regarve was evalved by
e | IBRD | b. | Bonical Survey of India
e | INESCO d | UNPP
| et P! S e fiein g fafn a7
a st HiEL b, | MTHT wAeE e
s [d, | T=m
2. | lp which vesr was N. RUE O, A. enacled?
& 2001 b, | 2003
e 2008 4. | 2007
AL S S g T e?
A 200 R 2001
e 2008 d. |2007
21, | Whe is the Chairmun af Sixteenth Finance Cominission?
n Bimal Jalan b | Rujlv Kumar
o.__ | Arvind Panagariys d. | N K Siigh
Free firm i = s = §7
5, | TEEeaery b W§E
& e e 4. Tms
24. | Kund are the waler harvesting stracires of
a Himachal Pradesh b | Madhya Pradesh
c Rajasthan i | Gujarst
e x 17 = e s Wl V2 '
8 e A I b Wi utE
c s e L) A O ]
25, | The Bonn Challerige pértains to ) _
# restoiation  of  degrided  and b removing poverty from the third
deforested land ] world
¢ redueimg inequalities fn developing d | none oF the sbove
nations
T T 4 W e e 6
a G S0 R T WTE NI W0 W c | A0 g e T
Iy Fimrar = o A SRR 4 #0 e R




English Language (331 #T9T)

Choose the correct option:

Iny the questions -3, In esch sentence sorvie phrasesare given which can substitute the biold |

pirt of the sentence. Find put the phrise which can correctly subslitute that part of the

sentence, i necded,

| Thie is exactly ‘what he wanted me' 15 solve the probijeni.
b | lawdid he want e [t how does he want me
e | how he wapted me d. | Nocorection required

I

My brother Bs [nd]Terem abour whitever [ say.

a |of

]

1 far

N correclion r&quin:d

5. | enjaved much

enjryed very much

C. we erjoyved ourselves very much

h
d

3 We hail a grand party end we enjoved very much.
b.
d.

N correction required

Iri the questions 4-6, four words ure given represented by letters bl which two are most
nenrly the same or opposite in meaniig. Find the two words which are'mast nearly the same

ol pppogite in meaning from the options given below.

4 (A) Gregarious; (B) Quixotic (C') Sociable (D) Discernible
B AC b, | C-D
e | B-P d |A-B
3 (A} Refuse; (B) Discourage; (C) Lurk; (D) Hide
i A-D b B-l>
c. C-D d. AL
6 (A)Reasonz (B) Percoptible: (€} Valid; (D) Discernible
: a. A-B i B-C
¢ e I )
T The sentence, “he hns dane the worke” pifers 1o which of'the following tense.
i Present indefimte 2nse b. Present perfect tense
c. | Presem continuous tende d. Presant perfiect contifiuous
1enee
R Whigh of the following i% riot a pair of conjutictions
a.  Either-ar h. | Weither - nor
X Though - vet d. This - that




|5

| * A1 louse ends’ means

i tie twa loose edids of a thread b. leeep aptions open
€. Inanuncertiin sijuation d. | repay debis
In lh?qmtmns 1012, one part of the senlence may have an eror. Find out which
part ¢/ the sentence has an errar and ehbose the aption correspoiding 1 it. I the
sentence is free from emror, choose "No ervor’.
10. Most pzople donon (1) realise that medical emergencies are (2)] nearly alwnys be
correcable (3 if detected early (41No exvor (§)
@ [ Mest people do not b redlise thar medical
umergencies are
[ nearly always be correctable d. il dietected early
[1. Dhespile iking steps to (1 )/encauruge foreign investment, (2) there has beert uny
(3 substantial improvement in our teonomy (4),
a | Drespite aking steps 1o b, | ihere has been any
£ | encodrsge Torelgn investmant. d. substantinl improvament in
| l our gconbimy
12. | She has beon (11 complaming sbouy headache (2 from moming. /{3) No error
#)
n | somplaming about headache b She has beeh
. from mamiie i No error
. e S w1 A e ' A S g s b
&, | Take necessary action pmd send, b, | Do the right snd send
& Do the l&ft and call d. None of these
H. "It lukies two 10 make a row’. means
w | R BTR R AR aa B, | O we e
S T (eiewEa -
15. “Unegsy lies the hicad that bears (he crown™ in Hind] teabs
" O = e
. A W W d GEEEL B
T3 Ini the sentence- *His house is near the mﬂtkﬂ-Pllﬂt'1."ﬂﬂF"’ii
5 Praniwin h Adjeclive
. Prepesition d.  Adverh
17. In the sentence- *Sit down and resta while”, “while™ is




a Verb b Noun
g Preposition d, Adverh
18, | "Turmover 2 new leal” means
& | change one’s bebaviour fioe the better | b | read betwien the pages of s
! ook,
B do a somariaull d. do a new job,
15, Which of the fallowing is not related 1o athers?
n Voluble b. Effusive
| 8, Verbose d. Refurhishment
20, Which of the follewing is notan antosym of “serane”
8, | Placid b. Plercing
1 fe Ravcous d, Bosiernus
[ 21, A xendplile is
A An indlvidual who ls diirscled 1o B A person wha tells
fureign peoples, eultures, or cusfoms anecdotes n o skilful and
amusing way
- % A parsyn wha is fanatical and d. A person who belicves that
uncompromisiag in pursuit of their the pursult of pleasure is
religions, political, or other fdeals the miost imperunt thing in
life

2 A person who iy primuorily concerned with making money af the expease of ethics

A | Misunthrope b. Highbrow.
£ | Stoic il Mercenary
In guestions 23-25, choose the misspelt word.,
23.
i B Achieve | Decieve
_ [ Belicve 4. Receive
24, :
a | Vociferous b Innocuous
<  Anihilate i Redemption
F i3 '
P Dictatieial T Miciuresque
L. Butlesque I Pietisrial
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s =, Maximam Marks: 300 =an/ Time 680 %=/ 40 Minutes
e @ A Name of the candidate H=irtm ¥ /Raoll No

1 [ 1T 1 T B 1
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\ ﬁwiﬁ1mﬁﬁ#gmnﬁaﬁm¢m#samﬂmuﬁwﬂt_m'-it'l:er,m*r‘%re?wﬂ“ﬁa
‘Question paper is in the form of Question Booklet with 100 quastions and the duration of the test is
01 hour 38 Minutes,

e < Bl Wik awsine FET b T g0, ferE 4 Aol o € gt w g W i/ The questions will
\ba objective type with four options out of which anly one will be unambiguous!y cotrect

wlrE e @ Y 03 20F S0 SN W e SO ® e g sfn wreT wien/ Each question carries
02 marks and one mark will be deducted for each wrong answer.

e O Svw A @ T SieT SusaTE T e wwe S i 50 e /A separate OMR answer
shaist With carbon copy will ba provided to mark the answar options _

ey, a4 s e ek /e wh b e e 81 F sl e g @
Haforn wuw o Sfse a0 SR T W a3,/ You have to sstact the night answer by marking
the camesponding circle on the OMR answer shee! by blue/biack ball point pen as per inetructions
giver in the answer sheel

o W [ S e A w A ot /Multiple answers for ona question will be fegarded a5 a
WHONgG arewsr,

el gt = ar T s ®a mev S e/ Enter your Neme and Roll Number camectly in the
guesstion booklet:

Feme vie ¥ wt S S AR oFS = R 5 = wi =ifey /Al entries in the OMR eheet should
he with biusibiack ball point pen only.

s i W 6 Al 9 Sefu® § @ atendance sheat T O = 6 7 You should sigr attendance
shest only In theprasence of tha Invigilator in the examination hall.

| Pifiss i i & s SupEn SeaEs WA 0 8 @ et At e S arfly A oof o
wpaft = 5 7 Computers, talculators, moblke phones and cther eledronic gadgets, lext books, notes
ete. will nat be allowed inside the written test hall

- ol 9 T s ene e e elle € Sy wils e s% v/ On completion of fhe

test oniginal OMR answer shest should handaver fo the nvigilator and retain the carbon copy with

you,

e oftn b w1 e €/ Retum the question Booklet to invighater.

gt @ e TR @ eby @ Wt o s @ 8/Candidates are ot permitted (o jsave the
axamination hall during the exatmination.



Paper TIT (Business ﬁﬂ'—ﬂupmcuﬂ
UGR[0 (fEws EaaThe)

Time :90 minutes Max Mirks: 300
T 0 FAE siftas o 300

Note: In all there are 100 questions. Each question carries equal Weightige and one tark
will b deducted for every witong aiswer.
=iTe: e 100 WH § 1 TR Wk & S{e AT & ST TR A G S 0 3
ST
Q1. Whist was the percentage share of value of sgricultual imports to national imports in
[ndia during the year 2021-227

1. 3.54 per cent

2. 5.07 per cent

3. 8.12 per cent

4. 10,09 percent

Y 2021-22 & SRR WA B AP STOTG & TR S0 S 1 i (e
e Ut

1. 3.54 Wia=a
2. 5.07 vig=s
3, 812 plREE
4, 10,00 wier=Ta

Q2. PM-KUSTM stands for

1. Pradhan Maritri Kisan Usia Surakiha evam Urtiaan Mahabaivan

2. Pradhan Meanrs Kisan Urvarak Sarankshan evam Mahaprabandhan

1. Pradhan Manrd Kisws Uipacidan Surakslia evam Ulthaon Makabhiyen
_ 4. Proatisan Mantri Kisan Urvarak even Sinchat Mahaprabandhan

-G e &1 " &

1. s e Sl He vl g wElihae
2. Ve BT e SR O FeIne

3. W e e SR O IR SeiE
a, e e St v TR meTaeEyE

Q.3. APEDA starids for
1, Agricalfuml Products Bxport Davelopment Authiority

1



2. Agricultursl & Processed Food Products Export Development Autharity
3. Agrioultural & Allicd Products Export Devalopmient Agency
4. Agricultural & Animal Foogd Products Export Development Agency

VUIEAR AR LR

1. g e P Rem mito

2, TRl Wi a ST Pt fere it
3. P 3l Hag Sare Mol [Fems e

4, oty ol vy g s Pl e o

Q4 Which of the following & not trae-abaut * Kisan Sarath?
|, *Sarathi stands for System of Agri-information Resources Aute-transmission and

Technology Hub Interfacs,

2. 1t is any ICT based plutform for twe-way multilingual communication system
between fasmers nnd sgricultural experts for ransmission of agricuftural
tectmolagy/information and advisory in the form of Test, Images, Audics and
Videass,

3. The platform was lsunched on July18, 2022 as pllot schente.

4. Currently, 731 KV and 3781 agricultural experts are registered to support 1.05
arore regisiered farmers of 210117 villages in the country.

T AR ¥ =7s o Prmiaiea {99 greus O el 67

| e T T & e e W E e e i S 3
EFE A soohsl|

2. T T SN TR (e o A1 ST AT S WU b (ol U
STERT s 3§, W 2o, T, STSA R RS & T PV

3T TR & TR & e ¢

3. T TR ] Qe e & I HR 16 e, 2022 T S (ee) T ]

4 FEARTH. A 210117 AT @ 105 FAS UNie i S WEw 64 & W]
731 T ST 3781 T RIS HeNed 6

Q3 RATTAAR stunds for -
|. Remuncrative Approaches fisr Agriculture and Allied Sectors Rejuvenation
2. Renewed Approaches for Agriculture und Allied Sectars Restructuring

3. Responsive Agehcy fior Agriculure and Allied Secrors Rejuvenation
4. Receptive Agency for Agriculture and Allied Sectors Restructuring

RAFTAAR T HOEE
| BT SR HaZ AT % FTUEEE & o7 TR SR



|2 R HEE 81 & TiE @ e AL
4, 0 I s & & yien & R wevmRiTe gerel

Q6. Arenewed emphasis was given for the growth of the cpoperative septor in India
through the vision of “Sahekar-sen-Samiriddhi ™ In resent thnes. This was so
because co-aperatives have some strong credentials such as:

A, A full-fledged Ministry of Cooperation was established in July 2011 Lo
provide greaer fogus to the cooperative seetar.

R, There are 8.5 lukh registersd cooperatives {n the coumtry with oyet 29 erore
miembers,

C. These Priniary Agriculture Credit Societies (PACS) cover 98 per cent of
villages In the country.

D, Currently, eround 29 per cent of agriculture finance is through cooperative
sovietles. :

Wht is true about the co-operntives in the country:

I. A, BuandC
2 A, Bond D
3. A CandD
4. B.Cand B

e & Tl o R a & B & e A v A e A @ e
wq%m% 3w gy v T SR o i GRS | @ g A
e ;
A TR A e e e 23 e o 2021 F v ol i vereg
I T
B, ZurH . e Uofige geaH) gl & Rrs 20 wig K it e B
¢, YT o iRt (PACS) 23 % o Hitvare el e R 8
D. T B, TN 20 TR it A awer aifad  mmum S g g
i T TG A T e w8
|, & ST .
2. T A S
3G, SRS
4 &), e d

Q.7. Theee largedt tomara producing stites of Tndia in the year 2020-21 wore:

A Madhya Pradesh
B. Gujurai
. Kdmidtaka



D. Andhris Pradesh

1.A Band C
A Band D
A CaendD
1,8, Cand D

3 202021 T WRe ¥ 7 98 9 TARE TEES G@ 4
A W TR

B, 7oRTa

C.F T

. 3y uEe

LA BRC

2A.B3RD

1A, CIRD

4,B,CHRD

Q.8. Which of the following agrachemicals are Insecticides?

A, Acetamiprid
B. Thismethoxam
C. Tridemotph

[, Fiprenil
LB, C
242D

3 ACD

4 B,C.D

P # | S & i T P 87

A THIERNS

B YRR -
C, e

p, feuifE

1w,

2.2 838

3L

-‘-;'m. #.ﬂ

Q.9. Biofertification of field crops for nutritional security has been given emphasis by the
ICAR in recent years, Some schievemonts In this regnrd are:

d



A. The 1CAR released 105 bio-fortified field crop varisties during 2014-20235.

B, Biofortification has been done with higher levels of Fe, Zn, privein, pro-vitamin
A, ete.

C. Over $5360 quintals of breeder seed of 51 such varieties have bean produced
during this period.

D. Maximum varieties of rice and wheht have been fortified.

Which one is true?
LA, Band C
2.A.Band D
3.A, Cund D
4. B, Cpnd D)

ST T A e T ERan  fr E6t 1 wuEt 3 Ya-Ede WS
R B gy Ee T e e T R 6

A ST A 2014-2023 F SR 105 e R et el @ e an @

B. ST A Fe, Zn, W, W-faeTfE A oif2 & Fer st w1 Swam g1 e 21

. &F aTTH A 51 T el & sss60 frea & sifie wore 4w @ gwe )
T §

. et i g Bt sl fewdl @ gee e B

FCEE A eI

1. & ST

2w TSt

13U AITEE

4.8 dug St

0.10. Arrange these financial and devolopment institutions chironologleally when these wete
set up in Indin starting from the latest 1o the earliest:

» ASFAC
B. NCDC
C. NABARD
D RBE

. AB,C.D
2. ACERD
3. CABD,
4. C,B.AD



ﬁﬁﬂwﬁ&mmwﬁﬂmmﬁﬁﬁmmﬁmmﬁﬁﬁ?iwhm
HTEP S w0 ST o

A T

B. RN

c, FmTE

D, ISR

(IR [ 1
2.0 5L W, E
38 W3,
4#ﬁmﬂ

Q.11. Atrange the fiollowing soil types found in Indis or the basis of the ares-under I|:Ir:5=
soils starting from the largest to the smallest:

A, Black sails

B. Red hoils

C. Arid and desert soils

D. Forest and moutitain soils

LA BCD
2. A, B,D,C
3.A.CRD
LADB.C

e B T W anel i (e o W @ o g1 o Siaria o 91 A &
TR O el 3 e oe e S

AT g

B, FTE 51

C. s SR R gl

D. & S ugrEt B

1., &, i, St
2.5 4, S H
3.0 6 4, S
5.0, 2, 4

(Q.12. The distribution that consists of only rare events is
l. Binomial
2. Toissom
3. Normal



4. Chi Square

we Rreor fora S ooy w2l Wi §
1, B9E

2. EEA

3, HHE

4 S

Q.13. The measurement of sampling etror [s usually called

[. significance level
2. confidence level
3. precision of sempling plan
4. walidation of du

A2 & A BT S O w1 e Sl 8

1. HE@ @t
2. Ay R

3. A OIS HEEa
4, BT TG

Q.14. The rejection of the null hypothesis (Ho) means thar the finding is

I, statistically insignificant

2. smtistically significan.

3. nothini to do wih significance
4. pvalue is not usoful

S UfEmel (Ho) 1 SRaTeT 1 o B T Pred
\. BT =y ¥ wgEs |
2 WiieImia &1 | By & |
3. e 4 B1% S5 181 8
. TS T IEaT el

(13, The mean of 1 distribution is 20 and the sundard deviation is 5. What is the value of
the coeffcient of variation?
1. 60.0%
2. 45.0%
3 35.0%
4 25.0%

ferell faveeo = w1 20 & S s e s &1 e pois s sm s



1. 60.0 %
2.45.0%
3.35.0%
4, 25.0'%

.16, Tvpe T error cocurs when we
1. tsfectn false null hypothesis
2. reject & true null hypothesis

3. dopot reject a falss null hypothesis
4. doinot reject a troe null hypothesis

TRU I E TN B ¢ oA 55

1. 52 5 Yfeepe ) e I B

2. T R R SRR I
3581 SR U 1 PR T8 0 &
4, =1 {EA e @ ST Tl B

Q.17. The specinl characteristics of & probabllity distribution are called

. moments
1. indices
3, stochastics
4, splices

e e =1 s Akl & fo e o e
L &W

2, YEES

e aC i

'l;ﬁ'tﬁrﬂ

218, Mateh the items given in List L& List TL

List 1 List 11

A. Regression coefficient I 41

B, Wihen two regression lines are parallel to each | 11 Mode
ither, then correlation is equal o

C.IEp(A) =).5 and p (B)=0.3, If A an¢| B are I, -= to =
mutually exclusive, then the P(A and B)

D. Histogram 1§ us=d for caleulating V. Zero

The correst match Is



A=l B-IV, C-UE DA
A-II, B-1, C-1V, D=1
A-Il1, B-IV. C-11, B
. A=V, B-IIL €1, D-11

F o -ar 1

Tt 1 eh e o 3 f o w1 e

il

A, HIRTHA IO

L=l

Heddy e aa e

B. mammmqﬂ%mﬂﬁﬂ I

S, AP (A SR B)

C. 11 p (A) = 0.5 3 p (B) = 0.3, A1 A AR B UTR | UL~ to -~

D. TR THTH @1 ST 10T 3 107 (mpal & & IV, 39

e e @

1. A-IT, BeIV, C-II1, DI
2. A, B, Y. Bl
3. A-Il1, B-IV, C1, DI
4. ATV, B-11, -1, -1

Q.19 Match the iems given in List | & List11.

List1 List1l
A. Probability L -1 sl
B. Correlation L Sample statistic
C. The ser of all possible outcomes of 3 fL Q-4
rundom experiment
D. A nimesical value used o o summary | [V, Sample space
measiire Tor a sumple
The cirrect match |s

. A-[IL B-[, C-TV, D-I1
2. AL B-1, C-IL, DIV
3. AL B-1V, C-1, D4




4, A-IV, B-IIT, C-I, DeIT

@ el
A. WiGEl WE
B. EHE [, AT |iew]

C. Trerage WU & QT SHITaa THuTH 1 308 L. 0-1
D, 74 o [ R A & w0 # Juan] ferdr wi IV. AT R
e HEATE A

wE fEm g

1. A-II1, B4, C-TV, D=1
2, A-IN, B4, C-1L D-IV
3. ATIL, BeIV, C+11, Dol
4. ATV, BN <L DT

3.20. Mateh the items glven in List]1 & List IT.

Tistl i List 11
A Epnioy Spectral Radiometar . Both Short and long wave radlation
B. Kipp Radiometer - II. Photosynthetically Active Radiation
(PAR]
C. Pyradiometer T, Waveiength of light
D, Spectrophotometer V. Diffused radiation

1o A=HL Bl G-IV, D11
2 A, B=IV, C-1, D111
3. A-IL BIL, CIV, B
4. A-ITL BTV, C-I1, DI

T L Ehn
AU e VeUmiet | 1 g S g o e gl )
"B fepy BT 11, U AT =0 1 T (180 (PAR)

10



C. TRRIeqmIeY TIL WEBTH 1 aoTeed

D. TERIBEIHICY 1v. T fafava

i) e &

1AL B-1 G-IV, D=0
2. A-TI, B-IV, C-1, D111
3, A-1HL, BT, G-IV, D-1
A AL B-IV, C-IL D+

Q.21. Which of the following elements regilites the opening &nd closing of sicmam?
1.

B U b2
TR Z

ET I o n e R e e 3R R S A T T L R | e G
LN :

2K

3.8

4P

Q.22. The duration of light is of major imponance to the growth snd development of plants.
Statement [ Most typlcal trapieal erops are short-day plants while those of higher
hatinudes are genernlly long-duy plants.

Stmement [1: The duration of night or complete darkness is more importnt than the
length of the day.

1. Both Statement (T) und Starement (11) are correct.

2. Both Statement (1) and Statermeni (11} are incorrect,

3. Statement (T) Is correot bur Statement (11} 15 incorrest.
4, Statement {7) |5 Incommect but Siatement (11) & sorrect.

it gf ol T o oy vy = epft @ aga v B o 1 Ui [ARe

gﬁ:ﬁﬁ?ﬁﬂw&ﬁﬂ%ﬁqaﬂ@%#aﬁhﬁamﬂmmwﬁﬂam
l-'a 3 |

e 11 T ) St v ol s o = dars 9 oifis Seel 6

| (1) SR U (1) 2 SRR

11



2. %A () SR A (S T
3. FuA () I8 & A S (1) TR B
4, YA (1) T & e B (1) T B

0.23, Statement I: The first stahle intermediste C3 cycle |s oxilo acetic acid.
Statement 11t Oxailo acetic scid is 3-carbon molecule

Pick the correct option
l. Both Sttemerit (T) and Stitement (11) are correct.

2. Both Statement (1) and Statement (1T) are incorrect.

3. Swement (1) is correct but Statement (11} is incorect.
4, Statement (T) is incorrect but Starernent (11} ls correct.

A |- TEE R eEd! € 95 SMael uie® UHs gl
T 11 SITFETON QIRTE RIS 3-ama 6 |
Wl Rwmee g

| BY (1) S FY (1) T e

2. B (1) S FNE (1) T T B

3. W (1) TE B S U (1) TR R

4, T (1) TG B B T 01 FE B

Q.24. Which ol the followidg nutrients is ivolved in the synthesis of suxin?

1. K

il
wpn

PrpfafEs # 9 B a1 e g olff % ddn #iha

LK

2. Zn

3.Cn

+B
Q.25. Which murient is involved in encrgy storage spd transfer in plants?
1. Mo
Z Ca
3B
Tt 7 Tt e Sl SR H S U q Wi 87
1. Mo
y &



3P
4.8

3.26, Match the itens given inthe Tist T & List 11

B List 1 List 11
| A. Photosynthesis L Rice

B. Electron tignsport chain M. Anabolic

C.C3 1L ATP

0. C4 IV, Foxtml millet

Pick the correct match from the followmg

L. A-ll, B-IIT, G-I, D-IV
20 AL B-IV, C-1, DA
3. Al BV, C-l, D41
4. A-IV, BIIL G411, D1

T Al

A WTE BRI 1. waa

B. ST@CTA UiNag &l TR GICIRES

C.C3 - [

D.C4 IV, Wlaw e arsRl
S 1 B i e

AL RILCLDIY
2. A-ll, B-IV, C-I, DI

3. AN, B-IV, C-1, D11
4. A1V, B-111, C-11, DA

€.27. Given the names of the sclentists in List ] and the imain fizalds 6f their work in List 11

List | List [1




A.ED Spran 1) Dryland crop production

<A

B. Kentieth L Larscn [T) Tillage effects and residue management
C. Issae Amon 1T1) Soil fertility snd plant mutrition
. Paul W Unger | V) Drought registance in plants

L

Pick the correct match from the fnllowing:

1, AL, B-1¥, C-I, D-11

2, &IV, B-ITL CL. DA

3. AMIL Bl CL DAV

4. AV, B-I, G4, DA

el 1 et s IR A o el e A Ry
Bl T

P T) T A e S
B FAY U@ EEA I TR WA ST STasE wa e
C. 3@ 3 111} T[T FELAT S Gt 21w
D, e SeeL AR V) SR g e

1. ACTL B4V, €1, D11
2 AV, B-IIL C-ITL D=1
3. AL B0, C-L DIV
4, ATV, B-I1, C-1, D-11

(.28, When an increase or decrease in the owput of one product does not affest the output
af the.other product, such products are called

Complementary
. Supplementary
Competitive
. Nanz of thesz

W U TG & gl B 9 ST g ST B Swiee ) WHia el
YA B, 1 O ST = we) W e:

| T
2, 3T

e —

o
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3, wferereff
457#%3?1??@

(2.29. A surve on which various combinations of labour and capital are used to produce
same level of output is called
|, Indifference Curve
2 Production Possibilicy Curve
3. lso-Resource Curve
4. Isogomnt

S e B o R s s gl & Rt el e S TErE
I 7 & fa sy ama &

L. G g

2. GG FHIEA G

3, HTEE-EETU

| FTEREE T

Q30. Iftwo inputs are good sibstiites to cach other, what will be the cross-price elisticity?

1. Negative
2. Positive
3. Zero

4, Infinity

A 21§ T o O /S0 [Bmed ¢, Gl wia-HiEs o ag] g
1. FToHT

2, HHRIES

3.9

4. 8=

Q.31. Which one of the following is not used as a safoguard against the risk and
uncertainty in agriculture?

Insurance

Discounling retirns

Enteeprises with high variabilisy

Flexihility

Forrfaafas o 3 frga oudn ot 3 St r siffom & Res gar w0
7 o] i S &2

i

2. g e

Il o o

iS5



3. S R o I
4, TrErE

Q. 32. Murch the ftems in Calumn A with those in Column B:

| Colamn A | Colymn B
A, Dizerete production function 1. Cnly one stage of prasluction
B. Work done by a machine iL Indivisible [nputs

C. Cobb-Douglas  production | HT. Peaduct - produer relanionship
Tunction

| D. How much of what toproduce | IV, Resniree service

Pick the correct match from the following:

1. A-ll, B-IV, C-1, DA
2. AL BaIV, C-I1L D-1
3. ASIB-IV, CL DI
4. ATV, BT, G-I, -1

Sfem A H R e sigen ST 8 7 R sreen 3 el

| BIOH A HIEH B
A ST IEIE B 1. GITEA &1 sham U T30
B, R g1 1) T B ' 11, S T
C_ T8-S0 SEET wad . S -
D, o8 i @1 ol SRR ma s | [V, e g
|

1. A-I1, B-1V, C-1, B-IH
2. A1, BTV, C-11L D-I
3. AL BTV, C-I, D-TI
4. ATV, B-I1, C-11, DA

Q.33, Maizh the items in Columin A with thase in Column B:

Coalurmn A Columm B

A, When AY /AN < AYYAX: <....< AYW/AX, | L APP is increasing
where Yy gre output levels and X are mpint
| lavels

16



H. When MPP > APP 1L Leontief isoquants

C. Fixed technical coefficients - UL Decreasing factor substitution
D, When AXzi/AX: > ANyAXi P.eeoes | IV, Law of intreasing inarginal
AN/ AX o where X are inpuls productivity

Pick the correct match flam the following:

|, AL Bl G-IV, B-111
2 AL BAIL -1V, -1
3. A-HI B-IV, G-I, D
4. ATV, B-L G-I, D-Il

mjﬁﬁﬂ%qwqalmﬂrmaﬂmm Jsed & e

FIEH A ’ FEAB

A W@ AY I/AX] < AY2/AX2 <....< AYWAXn | L APP BB TBT |

W Yis HIEE T B A Xis TR EL

B. W@ MPP > APP 1. T2 1 SIS TIe

C. [lird @t s i 920 50 PR W

| D.OE AXIAKIT > AXIVAKID o> | IV, G SR H Ghe @1

AXDWAX 10 Xis TLE B fgm

P 48w

L. A=l B-1, C-1V, D101
2. A-I1, B-IIL G-IV, -1
3, A-IIT, BTV, £, D11
4. A-IV. B-L G411, D)

Q.34 Miteh the lrema In Coluimn A with those in Column B:

Column A Column B

A, Cuantity of input per unit of | T, Fentillzer reyponss studies
ot

' B. Quadratic production function | IL Secand and third stage of production

C. Deelining APP HE Technical cpefficient

D. How fo produce " | IV, Factor -Factor relationship

Pick the correct match from the following:

1. AL B-1 C-I1, DIV
2. A-L Bl G-, DAV
3, A, BV, C-1, D-IT

17



4, AV, B-L CIL DT

Faw A T U sEeH B @ien B 3 fag MY sigen & e

I A A

A Te 308 IICe T R STaC BN | L 9o WiaRpyl ST |

3. fiam Seare s . mmw 3T areT

AT I ﬁﬂ'ﬁﬁﬂfﬁ

D. 9eed SR EC IV, BIRE-TRE FaU
e & 9 Wl fem 9

1. AsITL, B, C-11, DIV’
2. AL B-1L C-L DTV
3, A-IIT, B-IV, C-1, D11
4. A-IV, B-L, C-IT, D=1

035 Match the ltems in Column A with thege In Column Bt

Column A Column B

A. Fundamentals of Farm  Business | 1. Strategic firm management decision
Muonagement

B. Introduction to the Economics of | IL Divisible inputs

Agriculturdl Production

C. Deciding about the mechinery and 11, 5.9 Johl. and T.R Kapoor.
liveswoek programme

. Continuous production function V. P.L.Sankhavan

Piele the correct matzh from the ollowing:

1. A<, BAIIL, C-11, D1
2. AL B-IV, C-1 D11
3. AT, B-1V, C-I1, D1
4. ATV, B-UIL, C-L, D-II

Wa#ﬁq mmﬁmnﬁmwmﬁm

| o B
mﬁﬁﬁﬁﬁ?ﬂ £, TUATTcrn TTH e e v |
B. TBY G < SIGRe S He I1. Fer ot S
C. nﬁaﬂsﬁﬂwaﬁﬁnﬁaﬁﬁﬁm 11, CHUE S5d I C1e0T F0%

D mmﬁ#w v, B T ST




FofomRaa 7 € 55! Tom '1‘-151’1

1. ATV, B-ITL C-11, D1
2 AL B-IV, €1, D-IT
3. A-[T1, B-1V, C-1, D-I
4. AV, B-IIL C-L DU

Q.36. Match the fteins in Column A with those in Column Bt

| Calumn A | Column B
A. How to produce 1. Time flexibility
B_ Risk minimizing ool | IL Cost A2 + Imputed interest on value of owned fixed ‘_
' capital (excluding land) +Imputed tental value of owned
land (less land revenus paid thereupon)
C. Cost Az |1 Input-input relationship
D.Cost B | TV. Cast Aj + rent paid for leased in lond

Pick the correct rntch fram

1o ATV, B-IIT, C-11, D
. Al B-I, C4V, DA
3. AN B-IV, GHLD-E
4. A-IV, B.III, C-1, -1

the following:

| I A HIdH B
A GUmA od @ | L OHG auidad
B oTET PA D | I AW A2 + Tl e S Ul o A O R |
HET o (1 BIEwY) + T arel {7 iy
T WF (G T ST T 3T i)
C.TNTd A2 1. §gE-S9E Hay
D. T B V. T A1 + T2 TR 778 ¥ e o7 e v it
Frafefae § 8w Ham g

1. A1V, B-11L, C-11, D
2. A-[l, B-1, G-IV, BT
3.A-1, B-IV, G-I, D
4, A-IV, B-111, C-1, DIT

Q.37, Mutsh the items in Column A with those in Calumn B:

! Colzmn A

' Column B

A, Netcapital ratio

| 1. Total oumput — Ouiput st BEF

19



[ B. Mirgin of safety (physical | T.  Net cash income = chunge i the
units) inventory — depreciation 4
0. Capital tumover ratio 1. Toml assets/Tatal Habilities

| D MerFarm licome IV.  Gross Incomefaveruge cepital invested

Picle the correct match from the fiollowing:

1, A-TL B-I, C-IV, D!
2. AL B-L G-I, 11V
3, AL BTV, C-I1, D-1
4. A-l, B[, S, DAV

B DA B
A & I ST 1 e SR - AR U G
B, TRAT AT (Ao SoTEan | 11, S Ta 31 & 5ag) § uRan — Jeuer
C. Tt BIRTER SF0TG I, T Ao aanE
D = PI0 M TV, Tl T I [Ta e gl
Torwreea o & &gl e g

1. A-ITL B-1, C-TV, D11
2. AL, B-L CAI1, DAV
3, A, B-IV, C-LL DI
4. AL BL C=1, D=1V

.38 Match the items in Column A with thogs in Column B:

Column A | Column B
A, Discounted measure i:  Economic analysis
B. Shadow prices 1L Classifying customers biﬁﬂd aon
income level
C. Updating input costs und output L Time value of money
prives
0. Markef segmentation V. Sensitivity analysis

Picl the correst muteh from the following:

1, AL B:l, €IV, DI
2. Al B-I, G-I D-IV
3. AL BeIV, G-I, -
4 A, BT, C-, DIV

FoH A BIOHR




A g aud T, e Teewm

B, BT0T 45 I 3T TR 5 YR UL A16d) 1 @ e
C. §74€ T SR STy m. U T A
Siiea] F1 uIT S
D, AT o 1v. Aaeier! el
FProfefda € ud e g

L. A, Bol, G-IV, DI
2. A-IIL B C-I1, D-IV
3. AL BV, C-11, -1
4. A-IIL B-10, C-1, -1V

Q39. For a given production function, Y=10 <0.6X, where Y I5 crop output and X is
fertilizer input, the cocficient 0.6 is called:
A, MPp

B. Slape
C. Elnstiéity of production
D, APP

Choose the correct answer from the options given below:
A nnd B only
A and € only
Band Conly
. B and Dealy

fepel} Fog T TG THaEH, Y10 +0.6X 3 610, W8 Y HHE JEET & S8 X JP
1Y, T 0.6 i HET ST 6:

A. MPP

B, ZAH

C. S & A
D. APP

| FEe A SIE
2. BadASRC
1 HEEBIRC
4 HEFAR ITD

BHp =

Q. 40. Arvange the steps followed in farm planning and budgeting from beginning 1o end;
A. Identification of risks
B. ldentification of enterprises to be included

21



C. Agsessmenl of resource endowments on the frm
D. Smtement of the objective

Choosé the correst enswer flom the options given below:

l. DABC
1. DBAC
3, DCBA
4. DBCA

R ) ST SN e a T T e e ST S I TR0 e
.‘IWE&W
g, wifiver fosg o ol Sl g
¢ e U e darawal @1 e
D. T T BT

i g g et #f & w9 99RO
L. DABC
2 DBAC
1, DCBA
4 DBCA

Q. 41, Macketing strategy relies on relntionships with supplier. customers and employee,
The sirength of these relationships ia largely & function of the:

1. Tangible characteristics of the exchange process
2. Amisint of trust the parties have in cach other.
3. Role of quality in the relationship.

&, Wav that each group defines ethical behaviour

w@ﬁﬂmﬂﬁmﬁﬁimmmmﬁnﬁm%lﬁ#ﬁ
% e wTE §S aw Raiae w FeR e &

1. e wfar 2 s R

2, i @ wEs-gER W e w81

3. Pt & porren @1 +{fFET

4. e o R udy T e wEsr i ufonRE FE

Q. 42. A strategic marketing plan involves doing all of the following except
1. Designing« strategic marketing mix.
2 Organizing the staff
3. Selecting target markets
4, Determining marketing abjectives
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oo R e e i wrd e £, R
. L Fopifees e o dam s

2. Tl @ e @l

3. FiBr B w1 g0 S

4, Byur Stedt o Pufarsen

Q.43. The 4Cs whith dre the focus of a mirker opparunity anabysis:

l. Customer. Compesition, Cost, and Capabilities.
2. Cugtonier, Contest, Change, and Ctllpahiiiﬁu.
3. Change, Customer, Competition, snd Cot

4. Customer, Competition, Cost, and Concept-

4 Sharan aw e @ §% 5
1. 0, o], S SR &HErd)
> ares, wiasrdl, fsada ofw emari
3. i, wiEE, wiveadf s arm
4, Ve, ViR, T S SEaRu|

QA44. The three major considerntlons in nssessing opportinitics and resources ute
environmental scanning, evaluating market opportuities, snd
1. Competitive sonnning.
2. Environmental analysis,
3. Understanding the firm's capabilities.
4, Opporunity selirch.

ST Sl T @1 e B | o v e & antae wEi, aee
& SawR] 1 EE, A

1. el s

2, TG (SR

3. TBH 1 AT B el

4, FEETEE|

Q.45. Given today’s ‘green’ trend, to profit from the threats w the physical eaviroament,
firms should:
|, continue to ignore all but the legally required ictions.
2. support legistation 10 repeal oppressive pollution laws.
1. ‘develop products or promotional cimpalgns that tout their good citizenship.
4. move thelr oifensive operations to countries that have minimal pollution laws

23



it & e TYF P ST T, e wofam & g @ § T gor & g,
T B SR

R T R s T B aree A Sl S e o o 7|

2 YR TR S A @ e @ S R e S e S

3, T8 FeTe U1 WA oftyar fam s @ wl gl o) AmiEal 1 a@

4, ST STETHS TETE P S ST 9 W1 TR WA B e € -

Q.46. The mast important criterion for choosing murket segmentation varisbles Isthat they
shiuld define groups of customers who:
1. are relntively price elastic. :
2. arenot presently served by 5 firm providing s product tha setisiies their wanis
for the particular product.
3, are relntively inexperienced in the product category.
4. are relatively experienced in the product casegory.

AT BT T R e e e TRt R s e
w1 ORI w9 ik

1. SBTEFE e SIEEN

2. FaE 2 et B o g S T ol 3 o el R same & R
&=l 1 QX e A6 SR Ua B B

1, Fane AU sy SEHas 6|

4. TS Srof Y SO SHa B "

(.47, Brands are botn out of the [ollowing strategies:
1. Segmenmtion and differentintion strategies
2. Promotion strategics
3. Good purchasing and supply chain strategies
4. All of the given options

Fis PufaEy writea @ e s
1, favrerT 3i Ry Trtaa
2. weT TurHiTeEt

4. fou o ol Rew

0Q.48. On the basis of degree of campetition, market can be classified as
i, Laocal mariet
2. Retail market
3. Perfect market
4. Regional market

24



el 51 Fist & SR R, A1 1 5 W il el o ] &
1. YT AR

2. WET AR

3, o] AT

4, &g A

Q.49. Risk involved due to reduction in price of produce can be checked by
1. Insurance
2. Future commuodity market
3. Both the above
4. Mone of the ibove

eI T AL B 1 R DA b B ISR G T RS TS TR

| e
2. HTE! a5 W
3. BULIE Bl

(.50, Which of the following i5 not & co-operative organisation?
r ) Fal
2. NAFED
i. NCRC
4. PACS

FmfaTaT 3 § B Ggen 6 81 €7
L. [ Sae

2. %irE

3. oA

3, s

Q.51. Which onz of the following is not an agent middlsman?
|. Kaceha arhilin
2, Pucca arliatia
3. Broler
4. Ttinerant trader
rafeiea 79 @ ysle fadiom =E 22
| Tl e
2. U S
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Q.52 When was The Agricultural Produce (Crading and Marketing] Act passed?

I. 1952
2, 1037
3. 1956
4. 1962

1.1952

2.1937

31950

4, 1962

©.53. Congignment method is recommended for egtimating marketing margins of which
commedity?
1. Perishable cammodity
2. Processed commodity
3. Non-perishable commodity
4, Unprocessed commodity _
iy o ¥ IO TP T ST ST 2 o @ e =51 Rt 1 ot 87
|, T A
2. ST R
3, AT a

4, TGP0 95y

(.54, A murket sifustion in which there s only ene seller of commudity is:
1. Monopsany
2. Duopsany
3. Perfeet market
4, Wone of these _
v TR R Rt a1 Faa 1 8 Awar sl B
1, AR

2. G
3. QU AN
y S ABE S
.55, When was The Agricultural Prices Commiasion (APC) setup?
1. 1968
2. 1966
3. 1977

4. 1978
T E ST (APC) T RUTH T B 71§ G2
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1, 1965
2. 1966
3. 1977
4. 1978 _
Q. 56. How the physical risk in marketing con be reduged?
1. By speculntion
2. By hedging
3. By ddvertising
4. None of these

HSTeN | siiae SIEH 91 4 o BT o a6 57
1. EEET gl

2, BTE

3. fagE e

A THEDRE T

Q.57. The term “Entrepreneyr” was first defined by which Irish-French economist?

I. Richard William
2. Richard Cantillon
3. Jamis Benard
4. W.B. Gartner
e W ) UEe) 5K e amaimastart st 3 ot fm un
1. fea fafermm
3, B AAE
4, FEHE! TEAT

{2.58. The smtement “the hest way to predict the futare is to create it", Is atributed o

. EW. Taylor
2. Flippo

3, Ruskin Bond

4. Peter F. Drucker

vfrer i wfrerEdl S0 @ 5Ed o= Al 58 e us e e
EIITTMT%

1. U, S5, ca

2. e

3. e A

4. Ui U, gt

Q.59. Which factor is not included in markes penctration strategy®



. Examining market growih

. Assessing competitive reaction
3, Developing high quality produst
4, Analyzing market potentials

=¥

e oA A A e T T
1, EER # 5 S S S
2wt uialem @ oo e
3. Tl TUIE AT SuTE B R S
4. AT ) EETe] & R e
0.60, Which factor should not be considered for adopting murket penetration?
1. Marker growth '
2 Ircrease market share
3, Competitive resction
4. Pramotional acrivities

STE E e e T T T G (e [ S e
L AR H g

2. AR e g

3, Aieread wfafea

4. vaR TRy

Q.61. Who introduced the term Intraptencur?

1. Schumpeter

2, Pster Drucker

3. Dayid MeClelland
4. Gliford Pinchot

LETURIT Teg (! 9T pan
1, e
2. Ui BT
3, SRETETs
4, T e

Q.62. What Is the process by which individunls pursiie opportuntities without regerd to
resources they eurrenthy sontrol?
1, Startup managsmenl
2. Entreprencurship
3. Financis] analyms
4. Feasibllity planning

2B



Rl E i TR
1. e T

2. Fafm

1, T Femsom

4. ST g

Q.63. Which of the following atitudes is not genemlly associnted with successful
entreprensurship? 3
I. Compelition and co-operation
2. Desire to influence others
3. Innovation and product improvement
4, Stamus quo in business

it o @ 2w u 2w s drw wwe suim E g ger §
| wfereeer site weam
2 @) @l yifaa o @ 5w
L TEER AR TR YR
4. SEEM H gy
Q. 64, Which of the following is not o characteristic of entreprensurship”

1. Risk taking

1. [nnovation

3. Creative actlvity
4. Managerial training

et 73 o @ saftm i Rdwar =gl 2
|, FiEH I

2. FAER

3, T Ay

4. ey wiam

Qu65. Which are the 6 Cu that mativate entreptencurs to establish their own business?
. Change, challenge, creativity, conuol, cuiripsity and cash
. Customer, challenge, creation, cantrol, cliriasity aod cash

1
2
3. Conteet, connest, conversation, consideration, consumption and soimmunity.
4. Commitment, culture, continugus, cooperation, customer and control
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Q.66, “Think big, Think fise, Think Ahead. Ideasare no one’s monopoly" was given by
1. Azim Premjee .

Winkesh Ambani

Vijay Mallya

Dhirsjlsl Hirachand Ambani

T s e 2 s B, S |, o e RERt o R w e
S

1. {oiH W

2. S[BRT SHarl

3. forerg meEm

4 i €N Sar]

L

Q.67. A corporate munager wli) starls anew initiative for their company which entalls ::_eﬂing
up mnew distinet business unit and board of directors can be regarded as;
1. Ecoprencur
2. Technopreneur
3. Intraprencur
4 Soeciul Entreprencur

T Bt e 9 ol FE F R v 7€ v 1 @ & e 1@ S
A e TR ST SRR HeT T R S S 8, 9 H TR A
1 FaEl B
| EERTR=IR
2, THEIMAR
3. BoTHAR
A, TR I
(.68. The process of sharjry information between extension worleers and farmers is called:
1. Education

2, Communication
3. Tramsfer of technology
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4. Progressive farming

SR T e AT o 4t e AT B S iR ) el el o

1. fire

2. WER

3. Wit sy
4. oI e

. 69. "No single extension teaching tiethod is effective under all situmtians" follows which
principle of extension?

Principle of participation

Principle of reaction

Principle of aduptability

Principle of cultural difference

varE o v R e wa R wedt o & werdl i S R & B
g W e Tl 87

1. HFTTErd @1 Rl

2 vt foaha

Lot

.70, Which of the following are the objectives of field wips?

A. To provide recrestional opportunities for particlpants,

B. Toexpose visitors to new and different field situations.

C. To stimulate paople to action ahd encovrage adoption of prectices.

0. To widen the vislon of farmers and cater to group psycholowy and leadership.

Chobsk the toreect answer fiam the options given below:

1. A.Band C only
2. A,Band Danly
3. B, Cund D only
4. A, B, CandD

P A asra v Rus g

A. i & oy weiRee s Wam s

B. ATEEET &1 4% ST areny wies fRufar & e S|

C. FTiT T FreaTE 7 fa D e S wursil @ s 3 e fiwfEa @)
. feart w1 5 S S A wEE Fee ol e 1 &l
i fan e et Ff @ wE o
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| AT A, B C
2. FTTA, B HID
1 FEA B, CHID
4.A,B,CHRD

.71, Bartlers to communication it rural aress can be:

A. Lack of access to wehnology

B. Use of complex scientific jargon
C. Active parsicipation of firmers
D. Foeus on visuals

Chodie the correct answer from the options given below:

1. Anpnd B only
2. Aund C only
3. B and Conly
4. Band Donly

A ST o g e @ S5

g Sifew e TeaaiE S Iuan
¢, Tl @t afea smiert

D. EXE G &H

<18 fau v el AR HH I T

| G A ST B

1 asiRc

3, FAWB ARC

4, TEE B 3D

(.72. The diffision of innovations model eategorises individuals as

A. Innovarors

B, Edarly adoptets

C. Late majority

D. Progressive

Choose the comeat answer from the options given below:
1. A, B umndC only
2. A;Band D only

3, B.Cand Donly
4 ABCondD
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A, FauEd®

B, WTETHE U ardl

¢ WRYEHT

p. wnfeaefier

13 feu e Bee @ F 9 IR I

| A A BANC

2. &ERA BARD

L’&Fﬁ‘.‘ B,CHRD

4.A,B,CIRD

.73, Given helow aze twp statements, one is labelled as Statement | nid the acher is labelled

as Sustermnent 1T

Statement |: An cffective marketing extension service Is going to be ah Important
extension approach in fulure.

Statement [1: A new concept Market led extension’ Is emerging to safeguard farmers’

ineerest
tn light 4F the above stitements, choose the correcr answer from the options given helow:

1. Both statements | and 11 are false.
2. Both statemients [and TI are true.
3. The stazement | is true but statement 11 is Talze.
4. The statement | is false but stasement 1] is true.

Sr G R T E, T o | 3T A 1SR T
S 1 e T T T R e U T T e & 1 38T 6
e 1: T 35 TR 61 e 3 PRV U 1 SR SN ST SeaR SIE ¢

IR AT I s, At ey e femet # S Sl I e
| ST ST g d
2 FU | M UEFT T T
3, U | T & S v 1 TTEE €
4 BT | A € A U LT B

Q.74. What dpes the term ‘sustainable’ memn?

1. The implementution of eco-Giendly technotogies.
2 A balanee between mesting tiday's needs with those of this fltre.

P
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3. Theuse of alerntive energies.
4, Theuge of green technologies.

ferepTs ag &1 &Y B9

1, yafaem aFEe e s sniE|

1 I S| A A et I w3 Hgee
3. B e g & I

4. Shra vl @i

©.75. The word *Susminable Development” came into existence in the year:
1. 1862
2. 1978

3. 1580
4, 1987

e Tam e e T o off e ¥ am,
[.1992
2. 1978
1. 1980
4, 1987

Q.76. The United Nations Commission an Sustainable Development (CSD) war
established by the UN General Assembly in which yem?

1. 1992
2= 1993
3. 1994
4 1995

mmwmﬁwmmwmm&mm

& & 77 iy
1, 1992
2, 1993
3. 1994
4. 15893

Q.77 UNCED stands for
1. United Nations Confederation gn Envirmment and Development
. United Natlons Conference on Environment and Development
. United Nations Conference on Ecanomical Development
United Nations Confederntion on Economy and Development

£ b fed

UNCED 1 Faad o



1, TgfaTon i e TR HYEE T O
2, vafao ol T W Sy U8 e
3. 3fffife fam N HuEd WY T

4, 3ioFemrasyr s e U Hged Ug URE

.78, Whu are those 'left behing' referred to In the 2030 Agenda for Susminshle
Development?
1, The villnerable groups
2. The minorities
3. Thewibal praple +
4, Those without sisees to certain rights, goods and ssrvices

A TaehTe o fe1 2030 TSrST 3 Form @l s ave B v ww T 3, A A
). THNIN WHE

2. HETHSTS

3. et =

4. %ﬁmﬁzﬁwwmﬁﬁrﬂ Fegafl ﬁiﬂmaﬂaﬁuﬁaqﬁh

Q.79. Why is the education for sustainable dmlpnmml-r:lqyunr?

I. It enhances carcers prospects.

2. It promotes better undersianding about the environment.
3. It empowers [ndividuals to reflect on their own sstions.
4. It helps in starting more academic [nstitutions.

et Tamrer o TG faTan oo TRl 82
| 9§ Wi S evramei #1 9eri 8
2, U5 et 3 &R Fue IoE 91 "ol ol
3. o ) S w3 el T R A 1O W ae 81 4. 9%
el DO R Y B 5 #ag el g

Q.80. Arrange these financial and development institutions chronologically when these
were set up in Indinstaring from the lanest to the earliest:

A SFAC

B. NCDC
C. NABARD
D. RBI

Chonse the carmeet snswer fram the options given below:
1. A,B,C,D
1, A CB P
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3‘- c‘ﬁuﬁgnl
4. C.B,AD

== st e P Sl o1 v & Seat e 3 T 9 S e R

A. SFAC
B.NCDC
¢. TS
D. K3}

3 e o ol & 9 WE W g
1LA,B.C,D

IACB,D
3., A, B, D,
4 CBAD

:81. When did Regional Rural Banks start functioning in India?

1. 1979
2. 1975 -
i 19m
4. 1965

s 3 el ) 3 e T e O T
11979
31975
31972
4. 1965
3.42. NCDC starids for

1. Natlonal Cooperative Dairy Corporntion

2. Nationul Coeperative Development Corporation
3. Natiomal Consumers Development Corporation
4. National Consumers Dairy Cooparative
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2. P FEHR] BT
3. i ST R e
4. T SvIE ST TEen

(.83, Kisan Credit Cards Scheme was introduced in:

1. August 1996
2. Auglist 1998

3. Mareh 1992
4. March 1994

fopar Sfae o2 dem & 5= @) Ts:
|, ST 1996

2. TTET 1998

3, HFE 1992

4, 719 1904

Q.44. SelfHelp Grotps (SHG)-Bank linkageProgrammein 1992 was started by of

REI

RiRBs
NABARD
Lead Banks

I TR TR () A e e 1992 3 REads g g
217
1, HREHTE
2, AEHTE
3, AETE

4. dEd®

.hh'-ll'\-tn-—'
" L] + L)

(.85, The IFOAM stands for:

Interrintiongl Federation of Organic Agriculmure Moverments.
Indinn Faderation of Organic Agricalture Movements.
Intermational Federation of Organin Agriculture Methods
Indlan Federation of Orgunle Agriculture Methods

= N

TFOAM &1 THaE 2

. S 0 siamm! @ saagg aem|
2. SifaE T SETeE @1 YR HEd|
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3. G il R @ siafiia werw
4. St P Rftrdt @1 vl wERE

Q.86. “Organic Farming is a muptter of giving back 1 natire what we take from {t", s the
siatement by

Fantilanan, 1990,

IFOAM, 1972

FAC.

MS Swaminathan.

< B wpa o 95 o ayE 23 @) A & ol g ST O &, 9E e e

1, e, 1990,

2, TETHSYYH, 1972,
3. qoual,

4, THUH T

(3.87. On n averuge, what Is the per cent smount of nitrogen. phasphorys, and potash in
farm yard manare?
1. 03,05, a0l
2, 05,02,and 03
3, 0.7, 0.5, and 0.3,
4, 0.7,0.3,and 0.2,

St R e Y AT, R i derl 71w FE e €t &
1,03, 03, 8fT0.2.
2,05, 0.2, 3R 0.3,
3.0.7, 0.5, A 0.3,
4.07,03, 02,

e

Q.88. Which of the Tallowing is considered as bio-fertilizers?

Compost
Green Manure
M

BGA

Grishak] #W%ﬁaﬁrmﬁmﬁﬂ
| R

1. EIER

3. AR

4. 9=

-l
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Q.89. Vermicomposting process reduces wasiz volume upto:

1. 10%
2. 20%
3. 50%
4. 100%

ettt ufi sfivg o T SR P 5
1. 10%

2.20%

3,50%

4. 100%

Q.90. When arganic matter with wide C/N (70-1) is added to the zoil, the net sffect is/he
disappesrance of fmineral nitrogen due to:
1. Mineralization
2: Immobilization
3. Ns transformation
4. Nareduction

S ST /N (70:1) TTS) TE (T Tl @1 Torg 1 # et oiten &, & e i
Prafefee & wreoraior e e @ T Eh 6

1. EfsitE

2. s

3, N2 O

4. Nz FH

Q.91. The most-effective cropping system for remrning mineral elemenis wo soil 15

I Menocropping
2, Crop rotation

3. Double cropping
4. Relay cropping

o) 3 vl o 1 AT A B T e ST e WO 6
|,

2, T

3, SF0 I

4. FE il

Q.92. The end prodiice of C3 cycle is
. Oxaloacetic acid
2. 34-Wsphosphoglyvesrite
it
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3. Ribulose S-phosphate
4, 3-phosphoglycerate

.93, In melosis, when does syneptensinal complex develop?

1, Duting Leptotene
2. During Pachytens
3. During Zygotene
4. During Dipletene

13, R S e i B 87
|, ABTE B AR
2. 4t & ERE
1 SRR & A
4. fEEEF &AM
.94, Match the items given in List I & List 1L
I List1 List 1
A, Co-domtinance [1. Flower colout in sweet pen
B. Pleiastizopy IL ?luu-'nt colour in snapdragon
C. Epistasis [IL. Fur cont inrabbit
D, Multiple eliellsm TV, Sickle cell an=mia

Pick the correct miltch from the following:

1. AL, BAIL C-TV, DI
3, AL BV, G-I, D-IM
3, A<ll, B-ITL, G-IV, D-1
4. AT, BRIV, C-I10, D-I

l A 1_ o

[A FEgH | LG Hed § Bl 1

Fia)



B, dgEl 11, AU A g @
i 1. W B i
D. . FFeiae geiwed V. Fraey <18 iR
wel e B
I A<, B-11, C-1¥, D111

2. A-II, B-IV, C<1, D-I11
3, A1, B-XL G-IV, DI
4. A-I1, B-IV, C-11], D-1

Q.95. Match the items given in List 1 & Listll,

i List] List 11
A. Enzyme L Nucleatides
B. Proteéin IL Annrblﬁ_-u:id_
€. Vitamin 11l Amirio sciis
D. Nugleic acid V. Catalyst
The correct morch is
[, A, B-IV, C-1, D41
2. AL B-1L CHIV, DA
3, A=V, B-III, G-I, DT
4. AN BN G-I, D4
Sl i 1l
A, W=y L ETeEeE
B. e 11 TEn e WS
c. fazipm 1. Sfi ufEE
D. Affa® s V. eI
Wl T &

. A-Il, B-IV, C-l, b1
2 AL B-10, G-IV, D-1
3, AV BT, ©-1L DA
4. A<V, B-ill, C-11, D-1

(2.96. Mateh the jlems given in List T & Ligt 11




[ List 1 [ ListTl
A. Photosynthesis 1. Rice
"B, Electron transport chain | II. Annbolic
c.C3 1l ATP
D.C4 TV. Foxmail millet
Dick the correct muteh from the following:
1, A-ll, B-I11, C-L DIV
2. A-IL B-1V, C-111, D-1
3. AL, BTV, C-1, D11
l‘. I'&h“lvn B"iFL E‘IL D'.ll
’ gah T
A, VIEpTe] SevEH LIEE
B, oAl Hivass Al i1, TATa
c.C3 111, werdy
D, C4 A G G

1, A<TL, B-ILL, C-1, DIV
2. A-IL, BTV, €111, D1
3. AT, B-1V, C-1, D1
4, A-JV, B-HI, C-I1, D-1

.97, Mitch the items given in List] & List IL

| List 1 List 11
A. Duplicate recessive cpisisis L 151
8. Dominant epistasis I %:6&:1
C. Duplicare dominant spistests M. 12341
' D. Duplizate inferaction | v, &7
Pick the correct match:
1, AV, Bl C-II, D-IT
2, ATV BN GIL DAL
3, AV, B-IIL C-L =11
4, ATV, B-L, G-H, D-II
LSl Esill




A I Rt wewiE WER

B. EIFFE WS 1. 9:6:1
C. §Twide SliH-e QuEiag L 12:3:1
D. GICIHE Gt V.97

e e

AV, B-1, C-TI1, -1
ATV, B-I00, G-I, D-1
AV, B-ilL C-1, D-1I

A-IV, B-1, C-11, B-111

e B

2.9, Statement I: DNA, RNA and proteins are micromolecules.
Statement [; Nucleotide and amino acids are monemers of DNA/RNA and proteins,
respectively,
Pick the correct option N
1. Both Stmement (1) and Statement (1I) are correcL
2. Both Statement (1) and Suiternent (17) are Incanest.
, 3. Suement (T) is correct but Statement (1) s incorrect.
4. Statement (1) is incorrect but Statement (IE) is correct
Ty 1, ST, HTRTY ST T a i §)
WU 11 “Y[ETATEIgS K ] TS HEE: ST/ S WS & W gl
el e
| Y (1) ST YA (1) BT e o
2. YA (1) SR YT (1) S TR
3, %Y (1) W1 & T B (1) T 8
&, YA (1) T & Sl @ (I1) Wi 3

Q:99. Statement I: The first stable imermediate C3 cyele is oxalo acetic acid.
Stateinent 1; Oxala neetle acid [s 3-sarbon malecule

Pick the correst option
1. Both Siatement (T) and Stutetnent (1T) ore correer.
2. Both Sutément (f) and Statement (I1) are incorrsst.
3. Statement (1) 1s correct but Statement {11) is incomect,
4, Swtement (1) Is ineorrett but Statement (I1) s correst

v 1 T R e 3 e offeel e gs
A 11 SfeHTal THes NS 3 S 1

A3




wEl e 9

1 FR (1) ST () 2 R

2 e (1) SR (1) i e e

3. TV (1) T & A i (1) e B
4. 4 (1) VIO & S YT () FE B

Q.100. Statement (1)} The Aower color in the sweet pes, are either purple o white, The Fy
hybrids were all purple. When these liybrids were interérossed, a ratio of9 purple: 7
white plants were obtained in the Fa.

Statement (2): Two independently hssorting gencs, C and B oare involved in
anthocvanin synthasis and thet esch gene fius @ recessive allcle that abolishes
pigment production,

1. Both Statements are correch.

2. Statemeni { 1) is correct but Statement (2} is incorrect.
3. Statement (1) is incorrect but Statement (2} is correct,
4. Both Statéments are ncorrect.

ﬁﬂﬂmnﬁ%mﬁwmiﬂmﬁrmrﬂmﬁmm Fl HER e A 25
e T S T e e 7T, T2 7 6 T, 7 g e T ST T §

Ay (). B U A ARG Wi, © SR B, YR S e § o nlE
tﬂ?ﬂw-ﬂnuﬁwﬁﬁﬁmﬁﬁ-mwﬁmm%i

| 2wy A

1 U (1) T B AR A 2) TEA 5
3, U (1) T & T U (2) TR ¢
4 AF S T 8 |



Answer Key: Paper-1 (Mental Ability Test)
I N A (RS A Then)

Q. No. Correct Option | Q.No. | Correct Option
WA 6 (W REew o & | FE Eeew
1 (c) 26 (e}
2 (a) 27 (b)
3 (d) 28 (b)
4 (2) 29 (b)
5 (d) 30 (c)
6 (b) 31 (a)
7 (a) 32 (&)
8 (&) 33 (a)
9 (d) 34 (d)
10 {c) 35 (c)
11 (b) 36 (¢)
12 (b) 37|
13 (¢c) 38 (b)
14 (d) 39 (b)
15 (c) 40 (b)
16 (2) 41 {a)
17 (8) 42 (b)
18 (c) 43 (d)
19 (d) = (a)
20 (c) 45 (c)
21 {c) 46 lc
22 (c) 47 (2)
23 (b} 48 (b)
24 (d) 49 {c)
23 (2) 50 (a)




ANSWER KEY (31 F9ih)

Paper I1-General Awareness & English Languuge
&9T 11 - AT FOTEHAT TF et s

Subject: General Awareness
fawy ; ETAWT FEEERAT

Q.Na, | Correct Option Q. No. Correct Option

A W | w0 WEew g F. | = e

| {b) ' 16 {b}

2 {a} 17 {c)

3 [al 18 (e}

4 (a) 19 (o}

.. (d) 20 (c)

& (al 21 (d]

i {a) 22 {c)

g (&)} | 23 (d)

5 {a) 24 | (e}

10 (€} 25 (a}

11 {b}

12 (3

13 {c}

14 (b)

15 (d)

Subject: English Language (Rw® : F4ST &)

Q. | Correct Q. | Correct Q. Correct Q. | Correct
No. | Option N Option No. | Option No. | Option
1 {c) 9 (<) 17 | (®) 23 @
2 b 10 | 18 i@
3 i) T | 8 1@
4 (a) 12 | 20 |(=)
5 (©) i3 | (8 TR
] (d) 14 (a) 2 |
7 (1)) s (b) 3 (b)
] (d) 16 (e) 24 (e}




Answer Key

Paper I11 (Business Development)
¥ 11 (ReAe SaRTie)
Q. Correct Q. Now Correct | Q. Correct | Q. Correct
Mo, | Option Qption No. Optlon | Ne. | Optlon
1 (2) 26 (1) 51 (4) 76 (1)
2 () 27 (1) 52 12 177 |(2)
3 (2) 28 (2) 53 (1) 78 | (4)
4 (3) 29 (4) 54 | {4 79 |(3)
5 (1) 30 (2) 55 (1) 80 |(2)
6 (1) 31 (3) 56 | (4) 81 | (2)
fd (3) 32 (1) 57 1(2) 82 (@)
8 (2) 33 (4) 58 |(4) |8 1(2)
9 (2) 34 (1) 59 1(3) g4 [ (3)
10 |(2) 35 (2) 60 | (4) 83 (1)
11 |(2) 36 (2) 81 | (4) B6 | (1)
12 1) 37 (1) 62 (@ |87 (D
13 '(3) 3R (1) 63 | (4) 88 | (4)
14 1 (2) 39 (1) 64 | (4) 89 | (3)
15 |(4) 40 {4} 65 [(1) 90 | (2)
16 [(2) 41 (2) 66 |(4) 91  [(2)
17 [(1) 42 (2) 67 (3) a2 (4)
18 [(2) 43 (1) 68 |(2) 93 |(3)
19 (1) 44 (3) 69 [(3) 94 |(2)
20 ((2) 45 (3) 70 [(3) 95 1(4)
21 1(2) 46 (3) 71 (1) 96 | (1)
22 (1) 47 (1) 72 (1) 97 |(3)
23 |(2) 48 (3) 73 [(2) 98  1(4)
24 [(2) 4q (3) 74 (2) Qg (2)
25 . 1(3) 50 (1) 75 |(3) 100 | (1)




